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&l |

General Instructions :
(1) All questions are compulsery.

(it)  This question paper consists of four Sections A, B, C and D. Section A
contains 8 questions of one mark each, Section B is of 10 questions of
two marks,each, Section C is of 9 questions of three marks each and

Section D isof 3 questions of five marks each.

(iti) Theresis no overall choice. However, an internal choice has been provided
in one question of 2 marks, one question of 8 marks and all the three
questions of 8§ marks weightage. A student has to attempt only one of the

alternatives in such questions.

(iv)  Wherever necessary, the diagrams drawn should be neat and properly
labelled.
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Qus A
SECTION A
1. RIS T HRU JdEU foh fOf4e TR o qTias # Mot Icdieshal - =
Hiukl 1

Mention any two reasons why the primary productivity varies in different
types of ecosystems.

2. Tl TH TSk H ADA-3HE 1 U8 5% § | THH HI3 Th HHF, TAR

geree | 1
A boy has been diagnosed with ADA-deficiency. Suggest any one possible
treatment.

3. Tmafafaa @ @ foba 1 Sfiai & fo=m sy gian 2 2 1

AT uBferal, w4, Hewh, Uef |
In which two of the following organisms is the fertilization external ?
Bony fishes, ferns, frogs, birds.
4.  UH UH AaEiEEt IRE (IUD) w1 AW fafaw freeh g o safere ¢ dehd
& fop mwier e yproget & forw gfoepe BIGTT | 1

Name an IUD that you would recommend to promote the cervix hostility
to the sperms.

5. 2 % AR HRI-3caNadT(HiedsH)’ =1 BaT B ? 1
What is ‘saltation’ according to de Vries ?
6. fTmfifaa 4 @ 37 wdirem 9T . 1

() e % wed “Utere=” w1 1 R Ufterer (e fasrsaidaes dadq |
(i)  TeTeh THB-HTR BIT & |

(iii)  BNABRId b GRI EIEAl I ICATET ATh BH @I = |

(iv) el § el 1 e & 8 gehd |

Identify the two correct statements from the following :

(1) Apiculture means apical meristem culture.

(ii))  Spinach is iron-enriched.

(111)  Green revolution has resulted in improved pulse-yields.
(iv)  Aphids cannot infest rapeseed mustard.

7.  HE9WTfed g aTel foRe wehdet deaptur O Fo, T O fohade TR o eAeqorgEyl
61 AT <l St 2 1

How many kinds of phenotypes would you expect in Fy generation in a

monohybrid cross exhibiting co-dominance ?
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8.  3T=d MW gl Bidl I1S STl & 2 3H I W AT {1 T 2 1

Where is good ozone present ? Why is it called so ?

w@vus B
SECTION B

9. 3L h T WY § Ueh Ird (fowmoy) <61 Eshuvl 1 TR 7§ | S99 aRE-Hh e
G} sl ITH i il T fafy @1 am forfaw iR 39es faw 4 g | 2

A potato plant is infected with a virus. Name and explain a method to
obtain virus-free potato plants from it.

10.  Stafafaedr g1 s =R SR 6l =1 T | 2

STt
3cUTh Uiadeh § FEAHTE fohU T aTel 31 9Tl o @i fafen | w=terer &
=g W | ¥ ol YR T8RIdT hld & ? 2

List four causes of biodiversity loss.

OR

Name two metals used in a catalytic converter. How do they help in
keeping the environment clean?

11. 39 9 @l 99 o o 380 e =i [Hamn a8 2 SHesy | 2
Why is ‘starter’ added to set the milk into curd ? Explain.
12, foreft v oot § fohegl <R ORSiiet STgeRail sl =it SIS | 2

List any four parasitic adaptations in a parasite.

13. foram dmeha hl ®HA i fomT sis ST 37 3 | gHense fo Y 1 g=on
Torg gepR feraT SITaT 2 | 2

Banana crop is cultivated by farmers without sowing of seeds. Explain
how the plant is propagated.

14. #MFal | SUSW] % HY=H BH o G g4 dTcll HeATE qHesy | UET S gl &
Tor 3TUgT0] o HidX had ek &1 IGRIV] o™ L UTAT & 2 2

Explain the events that occur during fertilization of an ovum in humans.
How is it that only one sperm enters the ovum ?
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15. AR JfhaT o 2R -RNA T STSHT gHT =1 3TTageh BT & 2 2
Why is charging of £-RNA necessary during translation process ?

16. Tt T Togoieh o1 AW fafaw o 358 IgWfdd 8 W AME IR § &=
3rgfsha Bl 8, fofem | 2

Name an allergen and write the response of the human body when
exposed to it.

17. TRYISIETT 17 8 UG g4 dicl 37wy o1 9m foifgu 37t sarse fos gHa ik

W 35 T IS B 7 | 2
Name the drug obtained from Erythroxylum coca and write itsieffects on
the human body.

18. WATSHI § 37d:YSH hl Hawd THETST | 2

Explain the importance of inbreeding in cattle.

@vus C
SECTION €

19. WA 3 gigifeer W s fgret geur fohu iR uRm foF Fo-31urd Seafsma
Heclld 31U § 95 - 3 | T 3701 <kl HEIAdl § I5eh! 39 @ISl
o @ wwemRT | 3

Morgan carried out séweral dihybrid crosses in Drosophila and found
Fy-ratios deviated very significantly from the expected Mendelian ratio.
Explain his findings.with the help of an example.

20. et ifspery(SEaer) s § fFefdfiad & o 99 &1 TE st 3
et < fqEEH T AISH1 AN@ hl Tg™al § THes : 3
T (ITH), TLEHTCHS S, bR |

With the help of a schematic diagram, explain the location and the role of
the following in a transcription unit :

Promoter, Structural gene, Terminator.

21. SIfed o Hd % AJAR U TGEUT o Yohe B ohl GU 3k SIIA--=shl b AT S
il & | HHETSy | 3

According the Darwinian theory, the rate of appearance of new forms is
linked to their life cycles. Explain.
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22. U Y&l SRINE TIF H1 IR IRG SHRT, | 3
HAAT
(a) Tr=fefaa T o Icu=ehal Sl o am fofE
(i) vefiug
(i) g ()
(i) iU
(b) 38 TR < TN o [V H ArESe e 1 fhy TR UgEH. &l
TRl 8 ? 3
Draw a labelled sketch of a typical biogas plant.
OR

(a)  Name the causative organisms for the following diseases :
(i) Elephantiasis
(i1) Ringworm
(iii) Amoebiasis

(b)  How can public hygiene help control such"diseases ?

23. IMYHl T & PO HAE 7 FIERHLAY % U FB B TWE A
STTEIRTeh/=TaTeh fshamehetty TTya Rl & Si& fob fospfafos SRR de
I UM < ohg e fOIU 3I5H _AWATCRR ARl 8 “rg smafq T8
TieMpehe Tal of @ ¥ |
AT AT UH fshamehcTdl T FHYH ST ? A9 I Sk U H R o HRI
ECIE 3
A few residents in gour locality, for business gains, have established
small-scale industrial / commercial activities such as pathological labs
and fabric dyeing, ‘centres without obtaining ‘No objection certificates’
from municipal authorities.

Would you support these activities ? Give any three reasons in support of
your answer.

24. (a) ( el & qiued i WU Bd & | 99 F=1 Tg T (o7 ST FehdT B
Tor fratt o grew M= =€t |iaT 2 3794 TR R AHEST |
(b) ToeoIE (Wex) qe Theliowst (S Hfiell) o Yol H 1 3Tl gid
%’Fﬁ‘ﬁwl 3

(a) Mature seeds of legumes are non-albuminous. Then, can it be
assumed that double fertilisation does not occur in legumes ?
Explain your answer.

(b)  List the differences between the embryos of dicot (pea) and
monocot (grass family).
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25.  Todll FAIT AT8eh H TN TAA 1 BId g ? Ih! {Heh! THST, | pBR322
H u fohegi qf Tali o A faRan | 3
What are ‘cloning sites’ in a cloning vector ? Explain their role. Name any
two such sites in pBR322.

26. Ul YTe" qUT 39k 3T WM k1 9 failau fS9enl Fc7igeimeT s=HifHer dshitd

T 8 | 9t 91e9 H ds-RNA  ScUTeH H 87799271 shi Yfeht TWETST | 3
Name the host plant and its part that Meloidogyne incognita infects,
Explain the role of Agrobacterium in the production of ds-RNA_in the
host plant.

27. TUH WAHL GHSAT H Ul €A ¥, HH 3R FG¥A gY I U IR 9T Y
Rt Tg=TT ST SR HieT o1 | 3| Akl i AW fafgutd sus fawg #
TS, el HERal € STRRRITY Ja SHI hl 989 U Fh AN 3w 3T
-39 SR 1 |9 &6 | 3
Following a severe accident, many charred-disfigured bodies are
recovered from the site making the identification of the dead very
difficult. Name and explain the technique that would help the authorities

to establish the identity of the dead togdbe able to hand over the dead to
their respective relatives.

Qs D
SECTION D

28. “DNA wfdspfd stefaeaft Bidi ®,1” 39 f4gd I TEdIfod s el SFiehl &
qur fag o aTell & T [IRaY | 38 YA % 3MER W fhw YR fag feRen
T o1 ? 9H4ATsT | 5
STera
(a) HHGl H, Fuiedr (Tnedn) U for-dgerd fomives 2 | 39 faw & wh
Hehl/hl TR ¥ THSATST |
(b) wHEl d s % fom w1 fraftor frar grn gar 8 7 6 @i % g | osEes
fowa o wwemsT | 5
“DNA replication is semi-conservative.” Name the scientists who

proposed it and who proved it. How was it proved experimentally ?
Explain.

OR

(a)  Colourblindness in humans is a sex-linked trait. Explain with the
help of a cross.

(b)  In human beings, the sex of the child is determined by the father
and not by the mother. Explain.
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29. WHAl H YGRISHA HAI i A €9 H SIS qAT 39 o8 H qHET | 5
HAAAT
AEAETSl B AT & Thd 8, ATHICT-TFON & Fehd & A IH

TS (3TTeH-STETAdT) & Hehdll 8 | $90 | YAk o (AT 110N 1 vl
HIT 3R JaRsy foF 98 T HH-A Th THR & A HAY: AA:ISHT ql

STRIYSA <l 9QET 2d 8 | 5
Schematically represent and explain the events of spermatogenesis in
humans.

OR

Angiosperm flowers may be monoecious, -cleistogamous ror show
self-incompatibility. Describe the characteristic features of each one of
them and state which one of these flowers promotes inbreeding and
outbreeding respectively.

30. (a) Torell ocflyr oTitGd H HEHPRE <EhUI o Weh) Ticihd Hisd hl 3@

STST |
(b)  UTHAHT H 35 bR < <shi ol Hetd U | 5
AT
(a) Slafafaedr & T & U H 3Teqd: TN, SAT9ehd: 3TN qen Afdw
Teh 1 &, THEATEY |
(b) F© Fivaa & H “Sriewyd Fi T 1 Safafagar Twa i m
Teh heH 1 Hal. AT & ? YA o foheal ol AREAAT o M fafgu | 5

(a) Draw a_simplified model of phosphorus cycling in a terrestrial
ecosystem.

(b)  Write'the importance of such cycles in ecosystems.

OR

(a). Explain the narrowly utilitarian, broadly utilitarian and ethical
arguments in favour of conservation of biodiversity.

(b) How is designation of certain areas as hotspots a step towards
biodiversity conservation ? Name any two hotspots in India.
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